Chapter 26: MPLS-Based VPNs

1. How many LSPs are used to connect the two routers at the ends of the VPLS?

Two LSP are used between the PE routers: one in each direction.

2. Where does the LSP connecting the site router CE0 to CE6 begin and end?

The LSPs begin at the virtual ports on the PE routers. The CE routers do not have LSPs.  

3. Why is the configuration on the PE router so complex?

The PE routers need BGP, MPLS, OSPF, and RSVP to be configured properly for the LSP to work correctly. RSVP sets up the MPLS LSPs, OSPF handles routine routing chores, and BGP is used to carry the VPLS MAC layer information between the PE routers. The PE routers also need to configure VLAN tagging and VPLS encapsulation on the interfaces (physical and logical) to the CE routers.

4. What is the function of the VPLS virtual port?

The VPLS virtual port is where the VLAN tagging that identifies the VPN is mapped to the MPLS LSP and back again.

5. What if a third site router using the 10.99.99.0/24 address space joined the network. Could the VPLS be extended to that site as well? If so, how? 

Yes, VPLS can be extended to other sites that share the same VLAN ID. This can be done by mapping the correct VLAN ID to the LSPs leading to the other sites. 

